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pattern SRR IEf#SR ZE A B8

1(0.25:0.85) |0.75£0.09] 0.86+011 | 6.6=438
2 (0.55 : 0.45) [0.51 £ 0.09| 0.63£0.18 |14.4+ 12.8
3 (0.80 : 0.70) [0.77 = 0.06| 0.60£0.30 | 81+6.1
4(0.20 : 0.30) |0.23 = 0.06| 0.54 +0.19 |19.6 - 13.6
5 (0.65 : 0.35) [0.60 = 0.08] 0.77£0.16 |10.8+8.1
6 (0.05 : 0.10) [0.08 = 0.05| 0.62+£0.13 [21.0+15.4
7 (0.95:0.90) |0.93+0.05| 0.62+036 | 8.2+97
8 (0.50 : 0.50) [0.53 & 0.05| (A:0.47 = 0.26)|12.4 + 10.6
9 (0.50 : 0.50) [0.50 & 0.07|(A:0.77 = 0.17)| 10.4 9.2
10 (0.35 : 0.55)|0.43 £ 0.08 | (B:0.38 £ 0.22) | 13.4 & 11.3
11 (0.25: 0.85)|0.71 £0.17| 0.76 £0.14 | 3.3+26
12

)
( )
(0.30 : 0.20)|0.24 = 0.11| 0.50 = 0.13 6.1 £2.0
13 (0.80 : 0.70)|0.72 £ 0.12| 0.70 £ 0.23 3.7+ 27
(0.50 : 0.50)|0.46 = 0.12|(A:0.48 = 0.20)| 4.6 2.5
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BANYT 49 P T R LD, AR,

W2 B (AR D35 & SR 72 (mean £ sd)

pattern € -greedy (€=0.2) UCB (c=1/v2) Thompson-Sampling

I IEfER ZERER | PR IR AR | P IEfER ZZ [l
1 0.75 = 0.09| 0.84 = 0.13 8.9 & 3.710.81 = 0.05| 0.93 + 0.04 4.8 = 2.0 [0.81 = 0.06] 0.93 + 0.05 5.0 % 3.0
2 0.51 £+ 0.08| 0.60 = 0.31 9.6 + 4.0 |0.51 £ 0.07| 0.64 = 0.22 11.3 £ 4.2 |0.51 = 0.07| 0.62 £ 0.24 |15.5 = 6.3
3 0.76 = 0.07| 0.62 =030 |9.4 £ 4.0(0.76 = 0.06| 0.65 = 0.21 10.5 £ 5.9 [0.76 = 0.06| 0.64 = 0.26 [13.7 + 6.8
4 0.26 = 0.07| 0.62 = 0.31 [10.4 = 4.2]0.26 = 0.07| 0.63 = 0.18 17.5 £ 4.8 [0.26 = 0.07| 0.62 = 0.20 [17.5 = 54
5 0.58 = 0.10| 0.75 = 0.23 | 9.2 £ 3.8 |0.60 = 0.08] 0.82 * 0.13 87+ 35 |0.59 = 0.08 0.80 = 0.15 |11.1 =58
6 0.08 = 0.04| 0.61 = 0.28 |13.0 = 5.5[0.08 = 0.04| 0.57 = 0.11 32.6 £ 6.2(0.08 =0.04| 0.58 = 0.15 |214 = 44
7 0.93 = 0.04| 0.60 = 0.27 [10.9 £ 5.2(/0.93 = 0.04| 0.59 = 0.15 [24.4 £+ 12.8/0.93 = 0.04| 0.62 = 0.28 |13.5 = 7.2
8 0.50 £ 0.07|(A:0.50 = 0.32)| 9.7 = 4.0 [0.50 £ 0.07|(A:0.50 = 0.24) | 11.6 £ 4.2 |0.50 = 0.07|(A:0.50 £ 0.25)|16.2 + 6.2
9 0.50 £ 0.07|(A:0.87 = 0.09)| 9.1 £ 3.6 |0.50 £ 0.07|(A:0.81 = 0.16)| 7.7 = 1.8 [0.50 £ 0.07|(A:0.87 & 0.10)| 8.9 £ 4.7
10 ]0.39 = 0.07[(B:0.17 = 0.15)| 9.1 &+ 3.7 |0.44 £ 0.07|(B:0.41 + 0.20)| 9.3 £ 2.4 |0.41 + 0.07|(B:0.26 = 0.17)|13.0 £ 5.0
11 0.67 £ 0.21] 0.70 = 0.30 1.8 &= 1.6 [0.74 = 0.14| 0.82 = 0.13 2.3 £ 1.3 [0.70 £ 0.16| 0.76 * 0.16 2.7t 1.5
12 10.25 £ 0.14| 0.56 £ 0.32 2.4 +1.810.26 = 0.14| 0.57 + 0.18 50 % 1.7 |0.25 = 0.14| 0.54 = 0.18 42+ 15
13 ]0.76 £ 0.14| 0.53 £ 0.36 1.7+ 1.7 |10.76 = 0.14| 0.59 & 0.26 3925 |0.76 = 0.14| 0.56 = 0.27 | 3.1 £ 1.8
14 ]0.50 = 0.16|(A:0.51 £ 0.36) | 1.8 = 1.7 |0.50 £ 0.16|(A:0.52 £ 0.24)| 3.7 £ 1.7 |0.50 = 0.16|(A:0.50 * 0.23)| 3.6 = 1.6
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